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1. Given that lim
x→p

f(x) = −5 and lim
x→p

g(x) = 4, find each of the following.

(a) lim
x→p

[f(x)− g(x)] (b) lim
x→p

[g(x)− 2f(x)]

(c) lim
x→p

f(x)

g(x)
(d) lim

x→p
f(x)

√
g(x)

2. Evaluate each of the following limits.

(a) lim
x→5

(x2 − 9x + 3) (b) lim
x→−3

√
1− x

x

(c) lim
h→0

cos(h)

2h
(d) lim

x→2

|x− 2|
x− 2

3. Given

f(x) =


cos(x) for x ≤ 0
1− 4x for 0 < x ≤ 3

9
x

for x > 3

determine each of the following limits, or explain why the limit does not exist.

(a) lim
x→−π

6

f(x) (b) lim
x→0

f(x) (c) lim
x→3

f(x)

4. Find all values of k for which lim
x→−2

f(x) exists, given

f(x) =


k2x, for x < −2
k − 6, for x = −2

4k − x, for x > −2


